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Read the following instructions carefully before you begin to answer the questions.

Important Instructions 

	 1.	 This Question Booklet is divided into three Parts — Part – I, Part – II and Part – III. Part – I contains 
questions of Language (Qualifying), Part – II contains questions of General Studies and Part – III contains 
questions of English.

	 2.	 Part – I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part – I, English Language consists 
of Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, 
Urdu Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. 
B-9 to B-30 (Students are required to choose the questions from any one language out of three languages). 
Part – II consists of Question Nos. 31 to 70 (the questions and their responses are printed in English and 
Hindi versions both) and Part – III consists of Question Nos. 71 to 150.

	 3.	A ll questions carry equal marks.
	 4.	 An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write 

your Roll Number and encode it and write other particulars in the space provided in the Answer 
Sheet, failing which your Answer Sheet will not be evaluated.

	 5.	 Immediately after commencement of the examination, you should check up your Question Booklet 
and attached answer sheet and ensure that the Question Booklet Series is printed on the top right-hand 
corner of the Booklet and the series encoded in answer sheet are same. Also please check that the 
Booklet contains 40 printed pages including one page (Page No. 39) for Rough Work and no page 
or question is missing or unprinted or torn or repeated or question booklet and answer sheet have 
different series. If you find any defect in this Booklet and attached answer sheet, get it replaced 
immediately by a complete Booklet with OMR sheet of the same series.

	 6.	 You must write your Roll Number in the space provided on the top of this page. Do not write anything else 
on the Question Booklet.

	 7.	 Each question comprises of five responses — (A), (B), (C), (D) and (E). You are to select Only One correct 
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct 
responses marked by you in the Answer Sheet.

	 8.	 In the Answer Sheet, there are five circles — A , B , C , D  and E  against each question. To answer 
the questions, you are to mark with Black/Blue ink ballpoint pen Only one circle of your choice for each 
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more 
than one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint 
pen only to mark the answer in the Answer Sheet. Any erasure or change is not allowed.

	 9.	 If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions 
of the questions, the English version will be treated as standard.

	 10.	 You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this 
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the 
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, 
you are permitted to take away the Question Booklet with you.

	 11.	 Failure to comply with any of the above instructions will render you liable to such action or penalty as the 
Commission may decide at their discretion.

	 12.	 Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self 
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART – I
(English Language)

	D irections (Q. Nos. E-1 to E-5) : Read the 
passage given below and answer the questions 
that follow.

	 Be like a flower. One must try to become like 
a flower : open, frank, equal, generous and 
kind. So you know what it means ? A flower 
is open to all that surrounds it : nature, light, 
the rays of the sun, the wind etc. It exerts a 
spontaneous influence on all that is around 
it. It radiates joy and beauty. It is frank. It 
hides nothing of its beauty lets its fragrance 
flow frankly out of itself. What is within 
and what is in its depths, it lets it come out 
so that everyone can see it. It is equal : it 
has no preferences. Everyone can enjoy its 
beauty and its perfume without rivalry. It is 
equal and the same for everybody. There is 
no difference or anything whatsoever. Then 
generous without reserve or restriction, it 
gives away the mysterious beauty and the 
very own perfume of nature. It sacrifices 
itself entirely for our pleasure, even its life 
sacrifices to express this beauty and the 
secret of the things gathered within itself. 
And then, kind : it has such a tenderness, 
it is so sweet, so close to us, so loving. 
Its presence fills us with joy. It is always 
cheerful and happy. Happy is he who can 
exchange his qualities with real qualities of 
the flowers.

	 E-1.	 A flower is open to all because
	 (A)	 It radiates joy
	 (B)	 It influences all
	 (C)	 It spreads its beauty to all
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-2.	 The author here talks about
	 (A)	 Lotus flower
	 (B)	 Rose flower
	 (C)	 Lily flower
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-3.	 A flower is compared
	 (A)	 With human beings
	 (B)	 With all living things
	 (C)	 With girls
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-4.	 A spontaneous influence means
	 (A)	 A slow influence
	 (B)	 Naturally created influence
	 (C)	 A quicker influence
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-5.	 The refined qualities of a flower are
	 (A)	 Generosity and kindness
	 (B)	 Fragrance and beauty
	 (C)	 Frankness and honesty
	 (D)	 More than one of the above
	 (E)	 None of the above

	D irections (Q. Nos. E-6 and E-7) : Fill in 
the blanks with suitable articles like ‘a’, ‘an’ 
and ‘the’ :

	 E-6.	 He saw ________ elephant at the Zoo.
	 (A)	 an
	 (B)	 a
	 (C)	 the
	 (D)	 More than one of the above
	 (E)	 None of the above
	 E-7.	 _______ good education is important.
	 (A)	 An
	 (B)	 A
	 (C)	 The
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-8.	 If 21 March is Wednesday, what will 
be 25th March ?

	 (A)	 Friday
	 (B)	 Thursday	
	 (C)	 Sunday
	 (D)	 More than one of the above
	 (E)	 None of the above
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(Hindi Language)

{ZX}e (àíZ g§»`m H-9 go H-18 VH$) : {ZåZ{b{IV 

An{R>V JÚm§em| H$mo Ü`mZnyd©H$ n{‹T>E Am¡a {XE JE àíZm| 

Ho$ ghr {dH$ën MwZH$a CÎma-nÌH$ _| {M{•V H$s{OE & 

JÚm§e - 1

AmXe© ì`pŠV gX²H$_m] _| AmñWm aIVm h¡ & Bgr _| dh 

AnZo OrdZ H$s gmW©H$Vm g_PVm h¡ & CgHo$ OrdZ H$m 

àË`oH$ jU gX²H$_© _| hr ì`VrV hmoVm h¡ & {dlm_ Am¡a 

{dZmoX Ho$ {bE CgHo$ nmg {ZpíMV g_` ahVm h¡ & dh 

eof g_` g_mO Ho$ CËWmZ _| bJmVm h¡ & CgHo$ OrdZ _| 

Ambñ` Ho$ {bE H$moB© ñWmZ Zht hmoVm & {dn{Îm`m| _| ^r 

dh AnZo M[aÌ H$m gƒm n[aM` XoVm h¡ & Y¡`©ê$nr Hw$Xmb 

go dh ~‹So>-~‹S>o g§H$Q>ê$nr nd©Vm| H$mo {Z_y©b H$a XoVm h¡ & 

CgH$s H$m`©Hw$ebVm XoIH$a bmoJ AmíM`©{d_y‹T> hmo OmVo 

h¢ & dh n[apñW{V`m| H$m Xmg Zht hmoVm, n[apñW{V`m± 

CgH$s Xmgr hmoVr h¢ & Bg AW© _| CgH$m M[aÌ àe§gZr` 

hmoVm h¡ {H$ dh Y¡`© go AnZo gmao g§H$Q> Xÿa H$aVm h¡ &

	 H-9.	 {H$g AW© _| AmXe© ì`pŠV H$m M[aÌ àe§gZr` 
hmoVm h¡ ?

	 (A)	 dh kmZ go g§H$Q> H$mo Xÿa H$aVm h¡ 

	 (B)	 dh Y¡`© go g§H$Q> H$mo Xÿa H$aVm h¡ 

	 (C)	 dh ~hmXþar go g§H$Q>m| H$m gm_Zm H$aVm h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-10.	 AmXe© ì`pŠV Ho$ OrdZ _| {H$gHo$ {bE ñWmZ 
Zht hmoVm ?

	 (A)	 _Zmo{dZmoX Ho$ {bE

	 (B)	 {dlm_ Ho$ {bE

	 (C)	 Ambñ` Ho$ {bE

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-11.	 àñVwV JÚm§e H$m Cn`wŠV erf©H$ h¡

	 (A)	 gX²H$_©

	 (B)	 H$_©erbVm

	 (C)	 AmXe© ì`pŠV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-12.	 bmoJ AmíM`©{d_y‹T> Š`m| hmoVo h¢ ?

	 (A)	 AmXe© ì`pŠV H$m gmhg XoIH$a

	 (B)	 AmXe© ì`pŠV H$m kmZ XoIH$a

	 (C)	 AmXe© ì`pŠV H$s H$m`©Hw$ebVm XoIH$a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-13.	 AmXe© ì`pŠV {H$g_| AmñWm aIVm h¡ ?

	 (A)	 gX²ì`dhma _|

	 (B)	 gX²H$_© _|

	 (C)	 ào_ _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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JÚm§e - 2

ñdmñÏ` Am¡a M[aÌ EH$-Xÿgao go K{ZîR>Vm Ho$ gmW Ow‹S>o hmoVo 
h¢ & dhr ì`pŠV ñdñW hmoVm h¡ {OgHo$ M[aÌ _| AmË_g§`_ 
hmo & Mm[a{ÌH$ XÿfU ì`pŠV Ho$ nVZ H$m H$maU hmoVm h¡ & 
AmË_g§`_ H$mo M[aÌ H$s gr‹T>r H$hm J`m h¡ & Bgr gr‹T>r Ho$ 
_mÜ`_ go H$moB© ì`pŠV CÎmamoÎma {dH$mg H$s `mÌm V` H$aVm 
h¡ & ì`m`m_ H$mo ñdmñÏ` H$m ghmoXa H$hm J`m h¡ & `hr 
{H$gr ì`pŠV H$s H$m`m Am¡a {MÎm H$mo {Z_©b Am¡a ZréO 
(amoJa{hV) ~ZmVm h¡ & M[aÌ H$s ajm H$m AW© h¡ - H$m`m 
Am¡a {MÎm H$mo {d{^Þ XÿfUm| go _wŠV H$aZm &

	H-14.	 ñdmñÏ` H$m ghmoXa h¡

	 (A)	 Am¡f{Y

	 (B)	 nm¡pîQ>H$ ^moOZ

	 (C)	 ì`m`m_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-15.	 ñdñW ì`pŠV H$m bjU h¡ 

	 (A)	 AmË_g§`_

	 (B)	 Anma g§nXm

	 (C)	 AË`{YH$ ~b

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-16.	 {H$gr ì`pŠV H$m {dH$mg {H$g na Am{lV h¡ ?

	 (A)	 g_w{MV AÜ``Z

	 (B)	 gËg§J{V

	 (C)	 AmË_g§`_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-17.	 ì`pŠV Ho$ nVZ H$m H$maU h¡ 

	 (A)	 AË`{YH$ epŠV

	 (B)	 Mm[a{ÌH$ Xmof

	 (C)	 AË`{YH$ {d^y{V

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-18.	 {d{^Þ XÿfUm| go _wŠV hmoZo H$m AW© h¡
	 (A)	 M[aÌ H$s ajm
	 (B)	 n[adma H$s ajm
	 (C)	 YZ H$s ajm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-19.	 ewÕ dmŠ` h¡ 

	 (A)	 dh Zo hr H$hm h¡ &

	 (B)	 VmOm Jm` H$m XÿY nrZm Mm{hE &

	 (C)	 dh {H$Vm~ bm`m &

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-20.	 ‘ í`m_gw§Xa’ _| g_mg h¡ 
	 (A)	 H$_©Yma`
	 (B)	 VËnwéf
	 (C)	 {ÛJw
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-21.	 ^mddmMH$ g§km h¡
	 (A)	 AaqdX	
	 (B)	 `m¡dZ
	 (C)	 ~w‹T>mnm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-22.	 ewÕ eãX h¡

	 (A)	 AZm{YH$ma

	 (B)	 AZ{YH$ma

	 (C)	 AZYrH$ma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-23.	 ‘ {ed’ H$m n`m©` h¡

	 (A)	 {ZO©a

	 (B)	 e{eeoIa

	 (C)	 H§$Xn©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-24.	 ‘AZwamJ’ _| H$m¡Z-gm CngJ© h¡ ?

	 (A)	 A

	 (B)	 AZw

	 (C)	 AZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-25.	 ‘AË`{YH$’ eãX _| H$m¡Z-gr g§{Y h¡ ?

	 (A)	 {dgJ© g§{Y

	 (B)	 ñda g§{Y

	 (C)	 ì`§OZ g§{Y

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-26.	 ‘Amdí`H$’ _| àË`` h¡ 
	 (A)	 í`H$
	 (B)	 `H$
	 (C)	 AH$
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-27.	 ‘A§JyR>m {XImZm’ _whmdao H$m AW© h¡
	 (A)	 AÝ`m` H$aZm
	 (B)	 ~oB‚mV H$aZm
	 (C)	 g_` na YmoIm XoZm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-28.	 ‘gå_wI’ H$m {dnarVmW©H$ h¡

	 (A)	 {d_wI

	 (B)	 gw_wI

	 (C)	 Xþ_©wI

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-29.	 {deofU h¡ 
	 (A)	 Ord§V
	 (B)	 Ord§VVm
	 (C)	 OrdZr
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-30.	 VËg_ eãX h¡

	 (A)	 _wëH$

	 (B)	 Xdm

	 (C)	 àH¥${V

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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( Urdu Language)

	 	 .U-9

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-10

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-11

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-12

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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	 	 .U-13

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-14

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-15

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-16

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-17

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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	 	 .U-18

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-19

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-20

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-21

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-22

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-23

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-24

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣
 ♣

 ♣
 ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣

 ♣
 ♣

 ♣ 
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	 	 .U-25

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-26

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-27

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-28

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-29

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-30

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣
 ♣

 ♣
 ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣ ♣

 ♣
 ♣

 ♣ 

    I
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( Bengali Language)

	 B-9.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-10.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-11.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-12.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-13.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-14.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

B-15.		

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-16.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

		  (E)  	

	B-17.	

	 (A)	
	 (B)	
	 (C)	

	 (D)	

	 (E)	
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	B-18.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-19.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-20.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-21.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-22.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-23.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-24.	
	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-25.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-26.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-27.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-28.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-29.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-30.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	 31.	 Where is the UN Climate Change 	
Conference 2024 scheduled to be  
held in November 2024 ?

	 (A)	 Baku-Azerbaijan

	 (B)	 Sharmel-Sheikh-Egypt

	 (C)	 Dubai-UAE

	 (D)	 More than one of the above

	 (E)	 None of the above

	 32.	 Which of the following is true about 
respiration ?

	 (A)	 Energy is released and stored in 
form of ADP

	 (B)	 Energy is released and stored in 
form of ATP

	 (C)	 Energy is not released at all

	 (D)	 More than one of the above

	 (E)	 None of the above

	 33.	 In how many years will ̀  7,500 double 
at 8% simple interest ?

	 (A)	 12.5 years

	 (B)	 10 years

	 (C)	 16 years

	 (D)	 More than one of the above

	 (E)	 None of the above

	 34.	 Which Country in the world became 
the first to enshrine right to abortion 
in its Constitution ?

	 (A) 	 France

	 (B) 	 United States

	 (C) 	 Denmark

	 (D)	 More than one of the above

	 (E)	 None of the above

	 35.	 Store house of malarial parasite in 
our body is

	 (A)	 Spleen

	 (B)	L iver

	 (C)	 Stomach

	 (D)	 More than one of the above

	 (E)	 None of the above

	 36.	 Which city was recently declared as 
the tourism capital of the Country by 
the government of Nepal ?

	 (A) 	 Kathmandu

	 (B) 	L umbini

	 (C) 	 Pokhara

	 (D)	 More than one of the above

	 (E)	 None of the above

PART – II
(General Studies)
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PART – II
(General Studies)

	 31.	 Zd§~a 2024 _| g§`wŠV amîQ´> Obdm`w n[adV©Z 
gå_obZ 2024 H$hm± Am`mo{OV hmoZo dmbm h¡ ?

	 (A)	 ~mHy$-AµOa~¡OmZ

	 (B)	 e_}b-eoI-{_ò

	 (C)	 Xþ~B©-`yEB©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 32.	 ídmg à{H«$`m Ho$ {bE {ZåZ _| H$m¡Z-gm H$WZ  
gË` h¡ ?

	 (A)	 D$Om© òm{dV hmoVr h¡ VWm ADP Ho$ ê$n _| 
^ÊS>m[aV hmoVr h¡ 

	 (B)	 D$Om© òm{dV hmoVr h¡ VWm ATP Ho$ ê$n _| 
^ÊS>m[aV hmoVr h¡ 

	 (C)	 D$Om© H$^r òm{dV Zht hmoVr h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 33.	 {H$VZo dfm] _| ` 7,500, 8% gmYmaU ã`mO na 
XmoJwZm hmo Om`oJm ?

	 (A)	 12.5 df©

	 (B)	 10 df©

	 (C)	 16 df©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 34.	 {dœ H$m H$m¡Z-gm Xoe AnZo g§{dYmZ _| J^©nmV H$m 

A{YH$ma gw{Z{üV H$aZo dmbm nhbm Xoe ~Zm ?

	 (A)	 \«$m§g

	 (B)	 g§`wŠV amÁ` A_o[aH$m

	 (C)	 S>oZ_mH©$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 35.	 h_mao eara _| _bo[a`m naOrdr H$m ^ÊS>maU  
ñWb h¡

	 (A)	 ßbrhm

	 (B)	 `H¥$V

	 (C)	 noQ>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 36.	 hmb hr _| Zonmb gaH$ma Ûmam {H$g eha H$mo Xoe 

H$s n`©Q>Z amOYmZr Kmo{fV {H$`m J`m ?

	 (A)	 H$mR>_m§Sy>

	 (B)	 bw§{~Zr

	 (C)	 nmoIam

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 37.	 Asiatic Society of Bengal was 
founded by

	 (A) 	 Sir William Jones

	 (B)	 Sir James Todd

	 (C) 	 Sir William Bentinck

	 (D)	 More than one of the above

	 (E)	 None of the above

	 38.	 The value of ( . )0 03125
2
5

−
 is 

	 (A)	 6

	 (B)	 4

	 (C)	 9

	 (D)	 More than one of the above

	 (E)	 None of the above

	 39.	 What is India’s position in the world 
on the basis of per capita water 
availability per year ?

	 (A)	 140th

	 (B)	 100th

	 (C)	 123rd

	 (D)	 133rd

	 (E)	 None of the above

	 40.	 Which of the following oxides is 

soluble in water ?

	 (A)	 CaO

	 (B)	 ZnO

	 (C)	 FeO

	 (D)	 More than one of the above

	 (E)	 None of the above

	 41.	 Congress Socialist Party (CSP) was 
formed in the year 

	 (A) 	 1932

	 (B)	 1930

	 (C) 	 1934

	 (D)	 More than one of the above

	 (E)	 None of the above

	 42.	 Which one of the following is not a 

colloid ?

	 (A)	 Blood

	 (B)	 Smoke

	 (C)	 Vinegar

	 (D)	 More than one of the above

	 (E)	 None of the above

	 43.	 Ghatshila of Jharkhand is famous 

for which mineral production ?

	 (A) 	 Bauxite

	 (B)	 Copper

	 (C) 	 Mica

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 37.	 E{e`m{Q>H$ gmogmBQ>r Am°\$ ~§Jmb H$s ñWmnZm 

{H$gHo$ X²dmam H$s JB© Wr ?

	 (A)	 ga {d{b`_ OmoÝg

	 (B)	 ga Ooåg Q>m°S>

	 (C)	 ga {d{b`_ ~|{Q>§H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

  	38. ( . )0 03125
2
5

−
 H$m _mZ h¡ 

	 (A)	 6

	 (B)	 4

	 (C)	 9

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 39.	 à{V ì`pŠV à{V df© Ob CnbãYVm Ho$ AmYma 

na ^maV H$m {díd _| H$m¡Z-gm ñWmZ h¡ ?

	 (A)	 140 dm±

	 (B)	 100 dm±

	 (C)	 123 dm±

	 (D)	 133 dm±

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 40.	 {ZåZ Am°ŠgmBS>m| _| H$m¡Z-gm Ob _| KwbZerb h¡ ?

	 (A)	 CaO

	 (B)	 ZnO

	 (C)	 FeO

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 41.	 H$m§J«og gmo{e`{bñQ> nmQ>u (grEgnr) H$m JR>Z 
{H$g df© hþAm Wm ?

	 (A) 	 1932

	 (B)	 1930

	 (C) 	 1934

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 42.	 {ZåZ _o§ H$m¡Z-gm H$mobm`S> Zht h¡ ?

	 (A)	 aŠV

	 (B)	 YwAm±

	 (C)	 {gaH$m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 43.	 PmaI§S> H$m KmQ>{ebm {H$g I{ZO CËnmXZ Ho$ 

{bE à{gÕ h¡ ?

	 (A)	 ~m°ŠgmBQ>

	 (B)	 Vm§~m

	 (C)	 A^«H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 44.	 Subramaniam and Naidu donate 

some money in a relief fund. The 

amount paid by Naidu is ` 125 more 

than that of Subramaniam. If the 

total money paid by them is ` 975, 

then the amount of money donated 

by Subramaniam is

	 (A)	 ` 425

	 (B)	 ` 575

	 (C)	 ` 385

	 (D)	 More than one of the above

	 (E)	 None of the above

	 45.	 Subhashchandra Bose was President 

of Indian National Congress in the	

 year/s 

	 (A) 	 1938

	 (B)	 1937

	 (C) 	 1939

	 (D)	 More than one of the above

	 (E)	 None of the above

	 46.	 Who was conferred the Dadasaheb 

Phalke Award 2023 for lifetime 

contribution to cinema ?

	 (A) 	 Dilip Kumar (Posthumously)

	 (B) 	Waheeda Rehman

	 (C) 	 Asha Parekh	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 47.	L amps used in street lighting are 
connected in 

	 (A)	 Series

	 (B)	 Parallel

	 (C)	 Both series and parallel

	 (D)	 More than one of the above

	 (E)	 None of the above

	 48.	 Bihar Diwas is celebrated on 
___________ to

	 (A) 	 On March 22 to commemorate 
its separation form the Bengal 
Presidency

	 (B)	 On March 22 to commemorate 
its separation form the Mughal 
Presidency

	 (C) 	 On March 22 to commemorate 
its separation form the Calcutta 
Presidency

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 44.	 gw~«_Ê`_ Am¡a Zm`Sy> Zo amhV H$mof _| Hw$N> n¡go 

XmZ {H$E & Zm`Sy> Ûmam Xr JB© am{e gw~«_Ê`_ 

Ûmam Xr JB© am{e go ` 125 A{YH$ h¡ & `{X  

CZHo$ Ûmam XmZ H$s Hw$b YZam{e ` 975 h¡, Vmo 

gw~«_Ê`_ Ûmam XmZ H$s JB© YZam{e h¡

	 (A)	 ` 425

	 (B)	 ` 575

	 (C)	 ` 385

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 45.	 gw^mfM§Ð ~mog {H$g df© ^maVr` amîQ´>r` H$m§J«og 

Ho$ AÜ`j Wo ?

	 (A) 	 1938

	 (B)	 1937

	 (C) 	 1939

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 46.	 {gZo_m _| AmOrdZ `moJXmZ Ho$ {bE XmXmgmh~ 

\$mëHo$ nwañH$ma 2023 go {H$go gå_m{ZV {H$`m 

J`m ?

	 (A)	 {Xbrn Hw$_ma (_aUmonam§V)

	 (B)	 dhrXm ah_mZ

	 (C)	 Amem nmaoI

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 47.	 g‹S>H$ àH$me _| Cn`moJ AmZo dmbo ~ë~m| H$mo 
Omo‹S>m OmVm h¡ 

	 (A)	 loUr H«$_ _|

	 (B)	 g_mZmÝVa H«$_ _|

	 (C)	 XmoZmo§ loUr VWm g_mZmÝVa H«$_ _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 48.	 {~hma {Xdg __________ _Zm`m OmVm h¡ &

	 (A)	 22 _mM© H$mo ~§Jmb àogrS>|gr go AbJ hmoZo 

Ho$ Cnbú` _|

	 (B)	 22 _mM© H$mo _wJb àogrS>|gr go AbJ hmoZo 

H$s ñ_¥{V _|

	 (C)	 22 _mM© H$mo H$bH$Îmm àogrS>|gr go AbJ 

hmoZo Ho$ Cnbú` _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 49.	 Which of the following is true ?

	 (A)	 31
36

17
18

59
60

43
45

< < <

	 (B)	
17
18

31
36

43
45

59
60

< < <

	 (C)	 31
36

17
18

43
45

59
60

< < <

	 (D)	 More than one of the above

	 (E)	 None of the above

	 50.	 Famous for his role during 26/11 
Mumbai terrorist attacks,  
Dr. Sadanand Date was appointed 
as Chief of which one of the following 
forces in March 2024 ?

	 (A) 	 Central Reserve Police Force 
(CRPF)

	 (B) 	 Border Security Force (BSF)

	 (C) 	 Enforcement Directorate (ED)

	 (D) 	 More than one of the above

	 (E) 	 None of the above

	 51.	 For what purpose is water used the 
most in India ?

	 (A) 	 Industries

	 (B) 	 Irrigation

	 (C) 	 Domestic

	 (D)	 More than one of the above

	 (E)	 None of the above

	 52.	 Plants appear to bend towards light 
due to

	 (A)	 Concentration of auxins at root tip

	 (B)	 Diffusion of auxins towards 
shady side of shoot

	 (C)	 Concentration of auxins at shoot 
tip

	 (D)	 More than one of the above

	 (E)	 None of the above

	 53.	 Where are more favorable conditions 

found in India for tidal and wave 

energy production ?

	 (A) 	 Gulf of Kutch

	 (B) 	 Mannar bay

	 (C) 	 Khambhat bay

	 (D) 	 Ganga river

	 (E)	 None of the above

	 54.	 The formation of Simon Commission 

was announced on 

	 (A) 	 8th November 1928

	 (B)	 8th December 1927

	 (C) 	 8th November 1929

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 49.	 {ZåZ{b{IV _| go H$m¡Z-gm ghr h¡ ?

	 (A)	 31
36

17
18

59
60

43
45

< < <

	 (B)	
17
18

31
36

43
45

59
60

< < <

	 (C)	 31
36

17
18

43
45

59
60

< < <

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 50.	 26/11 _w§~B© AmV§H$dmXr h_bm| Ho$ Xm¡amZ AnZr 

^y{_H$m Ho$ {bE à{gÕ, S>m°. gXmZ§X XmVo H$mo  

_mM© 2024 _| {ZåZ{b{IV _| go {H$g ~b Ho$ 

à_wI Ho$ ê$n _| {Z`wŠV {H$`m J`m Wm ?

	 (A)	 H|$Ðr` [aOd© nw{bg ~b (grAmanrE\$)

	 (B)	 gr_m gwajm ~b (~rEgE\$)

	 (C)	 àdV©Z {ZXoemb` (B©S>r)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 51.	 ^maV _| nmZr H$m gdm©{YH$ Cn`moJ {H$g à`moOZ 

Ho$ {bE {H$`m OmVm h¡ ?

	 (A)	 CX²`moJ

	 (B)	 qgMmB©

	 (C)	 Kaoby

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 52.	 àH$me H$s Amoa nm¡Ym| Ho$ PwH$md H$m _w»`  
H$maU h¡

	 (A)	 _ybmJ« na Am°pŠgZ H$s gmÝÐVm

	 (B)	 àamoh Ho$ N>m`mXma ̂ mJ H$s Amoa Am°pŠgZ H$m 
{dgaU

	 (C)	 àamoh N>moa na Am°pŠgZ H$s gmÝÐVm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 53.	 ^maV _| Ádmar` Ed§ Va§J D$Om© CËnmXZ Ho$ {bE 

A{YH$ AZwHy$b n[apñW{V`m± H$hm± nmB© OmVr h¢ ?

	 (A)	 H$ÀN> H$s Im‹S>r

	 (B)	 _Þma Im‹S>r

	 (C)	 I§^mV Im‹S>r

	 (D)	 J§Jm ZXr

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 54.	 gmB_Z H$_reZ Ho$ JR>Z H$s KmofU H$~ H$s JB© 

Wr ?

	 (A) 	 8 Zd§~a 1928

	 (B)	 8 {Xg§~a 1927

	 (C) 	 8 Zd§~a 1929

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 55.	 The ratio of two numbers is 14 : 25. 

If the difference between them is 264, 

then the smaller of the two numbers is 

	 (A)	 317

	 (B)	 282

	 (C)	 336

	 (D)	 More than one of the above

	 (E)	 None of the above

	 56.	 Where has the Gharial Breeding 

Center been established in India ?

	 (A)	 Sundarbans (W.B.)

	 (B)	 Morena (M.P.)

	 (C)	 Corbett (Uttarakhand)

	 (D)	 More than one of the above

	 (E)	 None of the above

	 57.	 Which one of the following is not 

among the four pilots who have been 

trained to become astronauts for the 

ISRO’s Gaganyaan mission to space 

planned for 2024-25 ?

	 (A) 	 Group Captain Ajit Krishnan

	 (B) 	 Group Captain P.B. Nair

	 (C) 	Wing Commander Subhanshu 

Shukla	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 58.	 Who threw harmless bombs in the 

Central Legislative Assembly ?

	 (A) 	 Batukeshwar Dutt

	 (B)	 Chandrashekhar Azad

	 (C) 	 Jatin Das

	 (D)	 More than one of the above

	 (E)	 None of the above

	 59.	 If x4 + y4 = 17 and x + y = 1, then the 

value of x2y2 – 2xy is

	 (A)	 8

	 (B)	 4

	 (C)	 12

	 (D)	 More than one of the above

	 (E)	 None of the above

	 60.	 National Library of India started its 

journey with the opening of

	 (A) 	 Calcutta Public Library in  

March 1837

	 (B)	 Calcutta Public Library in  

March 1836

	 (C) 	 Calcutta Public Library in  

March 1838

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 55.	 Xmo g§»`mAm| H$m AZwnmV 14 : 25 h¡ & `{X CZHo$ 
~rM H$m A§Va 264 h¡, Vmo XmoZm| g§»`mAm| _| go 
N>moQ>r g§»`m h¡  

	 (A)	 317

	 (B)	 282

	 (C)	 336

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 56.	 ^maV _| K{‹S>`mb àOZZ H|$Ð H$hm± ñWm{nV {H$`m 

J`m h¡ ?

	 (A)	 gw§Xa~Z (S>ãë`y.~r.)

	 (B)	 _wa¡Zm (_.à.)

	 (C)	 H$m°~}Q> (CÎmamI§S>)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 57.	 {ZåZ{b{IV _| go H$m¡Z-gm CZ Mma nm`bQ>m| _| 

go Zht h¡ {OÝh| 2024-25 Ho$ {bE `moOZm~Õ 

A§V[aj _| Bgamo Ho$ JJZ`mZ {_eZ Ho$ {bE 

A§V[aj `mÌr ~ZZo Ho$ {bE à{e{jV {H$̀ m J`m h¡ ?

	 (A)	 J«wn H¡$ßQ>Z AOrV H¥$îUZ

	 (B)	 J«wn H¡$ßQ>Z nr.~r. Zm`a

	 (C)	 qdJ H$_m§S>a gw^m§ew ewŠbm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 58.	 Ho$ÝÐr` {dYmZ g^m _| hm{Za{hV ~_ {H$gZo \|$Ho$ ?

	 (A)	 ~Qw>Ho$ída XÎm

	 (B)	 MÝÐeoIa AmOmX

	 (C)	 O{VZ Xmg

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 59.	 `{X x4 + y4 = 17 VWm x + y = 1 hmo, Vmo 

x2y2 – 2xy H$m _mZ h¡

	 (A)	 8

	 (B)	 4

	 (C)	 12

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 60.	 ^maV Ho$ amîQ´>r` nwñVH$mb` Zo AnZr ̀ mÌm {H$gHo$ 

CX²KmQ>Z Ho$ gmW ewê$ H$s ?

	 (A)	 _mM© 1837 _| H$bH$Îmm npãbH$ bmB~«oar

	 (B)	 _mM© 1836 _| H$bH$Îmm npãbH$ bmB~«oar

	 (C)	 _mM© 1838 _| H$bH$Îmm npãbH$ bmB~«oar

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 61.	 What was the electoral symbol 

that was restored to Imran Khan’s 

Pakistan Tehreek-e-Insaf party by a 

ruling of the Peshawar High Court 

against the decision of the Country’s 

election commission in January 2024 ?

	 (A) 	 Crescent Moon

	 (B) 	 Cricket ‘Bat’

	 (C) 	 Cricket ‘Ball’

	 (D)	 More than one of the above

	 (E)	 None of the above

	 62.	 A room is 8 meters long, 6 meters wide 

and 10 meters high, then the length 

of the longest pole that can be placed 

in the room is

	 (A)	 12 meters

	 (B)	 10 2 meters

	 (C)	 12 6 meters

	 (D)	 More than one of the above

	 (E)	 None of the above

	 63.	 What is manganese used for ?

	 (A)	 Photography industry

	 (B)	 Battery production

	 (C)	 Matchbox industry

	 (D)	 More than one of the above

	 (E)	 None of the above

	 64.	 Which of the following organs control 
body balance ?

	 (A)	 Ribs

	 (B)	 Ear

	 (C)	 Cerebellum

	 (D)	 More than one of the above

	 (E)	 None of the above

	 65.	 Under the Government of India 
Act 1935, who was the first elected 
Chairman of Bihar Legislative 
Council ?

	 (A) 	 Rajiv Ranjan Sinha

	 (B)	 Rajendra Prasad

	 (C) 	 Rai Bahadur Satish Chandra

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 61.	 OZdar 2024 _| Xoe Ho$ MwZmd Am`moJ Ho$ \¡$gbo 

Ho$ {Ibm\$ noemda CÀN> Ý`m`mb` Ho$ EH$ \¡$gbo 

Ûmam B_amZ ImZ H$s nm{H$ñVmZ VharH$-E-B§gm\$ 

nmQ>u H$mo ~hmb {H$`m J`m MwZmdr àVrH$ Š`m  

Wm ?

	 (A)	 dY©_mZ M§Ð_m

	 (B)	 {H«$Ho$Q> ‘~¡Q>’

	 (C)	 {H«$Ho$Q> ‘~m°b>’

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 62.	 EH$ H$_am 8 _rQ>a b§~m, 6 _rQ>a Mm¡‹S>m Am¡a  

10 _rQ>a D§$Mm h¡, Vmo H$_ao _| aIo Om gH$Zo dmbo 

g~go b§~o I§^o H$s bå~mB© h¡

	 (A)	 12 _rQ>a

	 (B)	 10 2 _rQ>a

	 (C)	 12 6 _rQ>a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 63.	 _¢JZrO H$m Cn`moJ H$hm± {H$`m OmVm h¡ ?

	 (A)	 \$moQ>moJ«m\$s CX²`moJ

	 (B)	 ~¡Q>ar CËnmXZ

	 (C)	 _m{Mg CX²`moJ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 64.	 {ZåZ _| eara H$m H$m¡Z-gm A§J eara Ho$ g§VwbZ 
H$mo {Z`§{ÌV H$aVm h¡ ?

	 (A)	 ngbr

	 (B)	 H$mZ

	 (C)	 goao~ob_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 65.	 ^maV gaH$ma A{Y{Z`_ 1935 Ho$ VhV {~hma 
{dYmZ n[afX Ho$ àW_ {Zdm©{MV g^mn{V H$m¡Z Wo ?

	 (A)	 amOrd a§OZ {gÝhm

	 (B)	 amO|Ð àgmX

	 (C)	 am` ~hmXþa gVre M§Ð

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 66.	 The Ministry of Science and 

Technology recently announced a 

new set of National Awards in the 

field of Science, Technology and 

Innovation known as ‘Rashtriya 

Vigyan Puraskar’, for which the 

award ceremony for all categories of 

awards will be held every year on

	 (A) 	 11th May – National Technology 	
		       Day

	 (B) 	 28th February – National Science  	
			   Day

	 (C) 	 23rd August – National Space Day

	 (D)	 More than one of the above

	 (E)	 None of the above

	 67.	 If 1
5

0 008
3







 =

x

. , then the value of 

(0.25)x is

	 (A)	 1.0

	 (B)	 0.25

	 (C)	 4.0

	 (D)	 More than one of the above

	 (E)	 None of the above

	 68.	 In which year was the African 
Convention for the Conservation of 
Natural Resources held ?

	 (A) 	 1980

	 (B) 	 1960

	 (C) 	 1968

	 (D) 	 1990

	 (E)	 None of the above

	 69.	 Which of the following represents 

non-ohmic resistance ?

	 (A)	 Nichrome

	 (B)	 Torch Bulb

	 (C)	 Copper

	 (D)	 More than one of the above

	 (E)	 None of the above

	 70.	 Which river makes boundary between 
India and Nepal ?

	 (A) 	 Gandak

	 (B) 	 Kali

	 (C) 	 Kosi

	 (D) 	 More than one of the above

	 (E)	 None of the above



11/MIV/M–2024–01/I	 27	 [ P.T.O.

	 66.	 {dkmZ Am¡a àm¡Úmo{JH$s _§Ìmb` Zo hmb hr _| 

{dkmZ, àm¡Úmo{JH$s Am¡a ZdmMma Ho$ joÌ _| amîQ´>r` 

nwañH$mam| Ho$ EH$ ZE goQ> H$s KmofUm H$s, {Ogo 

‘ amîQ´>r` {dkmZ nwañH$ma’ Ho$ Zm_ go OmZm OmVm 

h¡, {OgHo$ {bE g^r lo{U`m| Ho$ nwañH$mam| Ho$ 

{bE nwañH$ma g_mamoh ha gmb Am`mo{OV {H$`m 

OmEJm 

	 (A)	 11 _B© - amîQ´>r` àm¡Úmo{JH$s {Xdg Ho$ {XZ

	 (B)	 28 \$adar - amîQ´>r` {dkmZ {Xdg Ho$ {XZ

	 (C)	 23 AJñV - amîQ́>r` A§V[aj {Xdg Ho$ {XZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 67.	 `{X 1
5

0 008
3







 =

x

. hmo, Vmo (0.25)x H$m  

_mZ h¡

	 (A)	 1.0

	 (B)	 0.25

	 (C)	 4.0

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 68.	 àmH¥${VH$ g§gmYZm| Ho$ g§ajU Ho$ {bE A\«$sH$s 

gå_obZ {H$g df© Am`mo{OV {H$`m J`m Wm ?

	 (A) 	 1980

	 (B) 	 1960

	 (C) 	 1968

	 (D) 	 1990

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 69.	 {ZåZ _| H$m¡Z-gm J¡a Amoh{_H$ à{VamoY H$m 
à{V{Z{YËd H$aVm h¡ ?

	 (A)	 ZmBH«$mo_

	 (B)	 Q>mM© ~ë~

	 (C)	 Vm±~m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 70.	 H$m¡Z-gr ZXr ^maV Am¡a Zonmb Ho$ ~rM gr_m 

~ZmVr h¡ ?

	 (A)	 J§S>H$

	 (B)	 H$mbr

	 (C)	 H$mogr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht



11/MIV/M–2024–01/I	 28	

		
	

	Directions  (Q. Nos. 71 – 105) : Choose 
the correct option.

	 71.	 Which author created the line	  
“Elementary, my dear Watson!” ?

	 (A)	 Arthur Conan Doyle	
	 (B)	 Agatha Christie	
	 (C)	 Edgar Allan Poe	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 72.	 The figure of speech used in the	  
phrase “darkness visible” is

	 (A)	 Metaphor

	 (B)	 Simile		

	 (C)	 Oxymoron	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 73.	 Which Victorian poet wrote the 
dramatic monologues “Andrea Del 
Sarto” and “Fra Lippo Lippi” ?

	 (A)	 Robert Browning
	 (B)	L ord Tennyson		
	 (C)	 Elizabeth Barrett Browning	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 74.	 Who is the author of the novel Lord of 
the Flies ?

	 (A)	 William Golding
	 (B)	 Thomas Hardy		
	 (C)	 Margaret Atwood	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 75.	 What was the pseudonym of Charles 
Dickens ?

	 (A)	 Elia
	 (B)	 Boz		
	 (C)	 Currer Bell	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 76.	 Which critic distinguished between 
‘fancy’, ‘primary imagination’ and 
‘secondary imagination’ ?

	 (A)	 S. T. Coleridge	
	 (B)	 William Wordsworth	
	 (C)	 John Keats	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 77.	 Who wrote the novel Sons and Lovers ?
	 (A)	 Sigmund Freud
	 (B)	 Virginia Woolf	 	
	 (C)	 D. H. Lawrence	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 78.	 In which eighteenth century novel do 
we find the ‘Yahoos’ ?

	 (A)	 Robinson Crusoe
	 (B)	 Gulliver’s Travels		
	 (C)	 Amelia	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 79.	 Which famous English essayist wrote 
“Confessions of an Opium Eater” ?

	 (A)	 Thomas De Quincey	
	 (B)	 Thomas Macaulay	
	 (C)	 Dylan Thomas	
	 (D)	 More than one of the above
	 (E)	 None of the above

PART – III
( English )
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	 80.	 Who wrote the novel Emma ?

	 (A)	 Mary Wollstonecraft	

	 (B)	 Jane Austen	

	 (C)	 Mary Shelley	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 81.	 Which American playwright wrote 

Death of a Salesman ? 

	 (A)	 Vladimir Nabokov

	 (B)	 Arthur Miller		

	 (C)	 Tennessee Williams	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 82.	 Who wrote the play The Jew of Malta ?

	 (A)	 T. S. Eliot

	 (B)	 Christopher Marlowe		

	 (C)	 Tom Stoppard

	 (D)	 More than one of the above

	 (E)	 None of the above

	 83.	 Which English novelist created the 

character of Miss Marple ?

	 (A)	 P. G. Wodehouse

	 (B)	 Agatha Christie		

	 (C)	 Charles Dickens	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 84.	 The dramatist who wrote the play The 

Spanish Tragedy was

	 (A)	 William Shakespeare	

	 (B)	 Christopher Marlowe	

	 (C)	 Thomas Kyd	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 85.	 Who created the character of Leopold 
Bloom in Ulysses ?

	 (A)	 Virginia Woolf	
	 (B)	 W. B. Yeats	
	 (C)	 James Joyce	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 86.	 Which Indian poet wrote the poem 
“The Fakir of Jungheera” ?

	 (A)	 Rabindranath Tagore	
	 (B)	 Toru Dutt	
	 (C)	 Henry L. Derozio	
	 (D)	 More than one of the above

	 (E)	 None of the above

	 87.	 In which novel by Charles Dickens do 
we find the character of Mr. Micawber ?

	 (A)	 The Pickwick Papers	

	 (B)	 Great Expectations

	 (C)	 David Copperfield	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 88.	 Who wrote the play The Birthday	
Party ?

	 (A)	 Samuel Beckett
	 (B)	 Harold Pinter		
	 (C)	 William Golding	
	 (D)	 More than one of the above
	 (E)	 None of the above
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	 89.	 Which novelist created the character 
of Saleem Sinai ?

	 (A)	 Mulk Raj Anand
	 (B)	 Shashi Tharoor		
	 (C)	 Salman Rushdie
	 (D)	 More than one of the above
	 (E)	 None of the above

	 90.	 “But at my back I always hear/ Time’s 
winged chariot hurrying near”. The 
lines are taken from the poem

	 (A)	 The Pulley
	 (B)	 The Good Morrow	
	 (C)	 To His Coy Mistress	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 91.	 Which English novelist created the 
character of Dr. Aziz in A Passage to 
India ?

	 (A)	 E. M. Forster	
	 (B)	 Rudyard Kipling	
	 (C)	 M. G. Vassanji	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 92.	 A poem of mourning for a person or 
an object is called

	 (A)	 An Ode	
	 (B)	 An Elegy	
	 (C)	 A Madrigal	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 93.	 “The Sea of Faith/Was once, too, at 
the full, and round earth’s shore/Lay 
like the folds of a bright girdle furled.” 
Who wrote these lines ?

	 (A)	 Robert Browning
	 (B)	L ord Tennyson		
	 (C)	 Matthew Arnold	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 94.	 Which English poet wrote the	  	
following lines ?

		  “Break, break, break/On my cold gray 
stones, O Sea!/ And I would that my 
tongue could utter/The thoughts that 
arise in me.” 

	 (A)	 Robert Browning	
	 (B)	 Thomas Hardy	
	 (C)	L ord Alfred Tennyson	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 95.	 In which novel do we find the	  
characters of Elizabeth Bennett and 
Mr. Darcy ?

	 (A)	 Emma	
	 (B)	 Sense and Sensibility	
	 (C)	 Pride and Prejudice	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 96.	 Which Indian novelist created the 
character of Raju the guide ?

	 (A)	 Mulk Raj Anand	
	 (B)	 R. K. Narayan	
	 (C)	 Raja Rao	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 97.	 “On His Blindness” was written by
	 (A)	 Alexander Pope
	 (B)	 Edmund Spenser		
	 (C)	 T. S. Eliot	
	 (D)	 More than one of the above
	 (E)	 None of the above

	 98.	 Which figure of speech is also known 
as bathos ?

	 (A)	 Anticlimax
	 (B)	 Metaphor		
	 (C)	 Synecdoche	
	 (D)	 More than one of the above
	 (E)	 None of the above
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	 99.	 In which Shakespearean play do we 
find the character of Caliban ?

	 (A)	 The Winter’s Tale	
	 (B)	 The Tempest	
	 (C)	 Coriolanus	
	 (D)	 More than one of the above
	 (E)	 None of the above

	100.	 Which critic used the term “negative 
capability” ?

	 (A)	 T. S. Eliot
	 (B)	 W. B. Yeats	 	
	 (C)	 John Keats	
	 (D)	 More than one of the above
	 (E)	 None of the above

	101.	 The lines “It is a tale told by an idiot/
Full of sound and fury signifying	 
nothing” are taken from the play

	 (A)	 Macbeth
	 (B)	 Hamlet		
	 (C)	 King Lear	
	 (D)	 More than one of the above
	 (E)	 None of the above

	102.	 Which American novelist created the 
characters of Jay Gatsby and Nick 
Carraway ?

	 (A)	 F. Scott Fitzgerald	
	 (B)	 Herman Melville	
	 (C)	 Ernest Hemingway	
	 (D)	 More than one of the above
	 (E)	 None of the above

	103.	 What is the prosodic meter used in 
the following line ? 

		  “The Curfew tolls the knell of parting 
day.” 

	 (A)	 Iambic pentameter	
	 (B)	 Iambic trimeter	
	 (C)	 Trochaic pentameter	
	 (D)	 More than one of the above
	 (E)	 None of the above

	104.	 Who created the idea of the	  	
“Touchstone Method” as an aspect of 	
literary criticism ?

	 (A)	 Walter Savage Landor
	 (B)	 Walter Pater	 	
	 (C)	 Matthew Arnold	
	 (D)	 More than one of the above
	 (E)	 None of the above

	105.	 Which English Romantic poet wrote 
the following lines ? 

		  “In Xanadu did Kubla Khan/ A	  	
pleasant pleasure dome decree”.

	 (A)	 S. T. Coleridge	
	 (B)	 William Wordsworth	
	 (C)	 John Keats	
	 (D)	 More than one of the above
	 (E)	 None of the above

Directions  (Q. No. 106 – 110) :	

Read the passage below and answer the 
following questions.	

The Taj Mahal has become one of the 
world’s best known monuments. This 
domed white marble structure is situated 
on a high plinth at the southern end of  
four-quartered garden, evoking the gardens 
of paradise, enclosed within walls measuring 
305 by 549 meters. Outside the walls, in 
an area known as Mumtazabad, were living 
quarters for attendants, markets, serais and 
other structures built by local merchants 
and nobles. The tomb complex and other 
imperial structures of Mumtazabad were 
maintained by the income of thirty villages 
given specifically for tomb’s support.

The name Taj Mahal is unknown in Mughal 
chronicles, but it is used by contemporary 
Europeans in India, suggesting that this was 
the tomb’s popular name. In contemporary 
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texts it is generally called simply the 
Illuminated Tomb (Rauza-i-Munawara). 
Mumtaz Mahal died shortly after delivering 
her fourteenth child in 1631. The Mughal 
court was then residing in Burhanpur. Her 
remains were temporarily buried by the grief-
stricken emperor in a spacious garden known 
as Zainabad on the bank of the river Tapti. 
Six months later her body was transported to 
Agra where it was inferred in land chosen for 
the mausoleum.

This land, situated, South of the Mughal city 
on the bank of the Jamuna, had belonged 
to the Kachhwaha rajas since the times of 
Raja Man Singh and was purchased from 
the then current Raja, Jai Singh. Although 
contemporary chronicles indicate Jai Singh’s 
willing cooperation in this exchange, extant 
imperial commands indicate that the final 
price was not settled until almost two years 
after the mausoleum’s commencement.  
Jai Singh’s further cooperation was insured 
by imperial orders issued between 1632 
and 1634 demanding that he provide stone 
masons and carts to transport marble from 
the mines from Makrana, within his ‘ancestral 
domain’, to Agra where both the Taj Mahal 
and Shah Jahan’s additions to the Agra fort 
were constructed concurrently.
Work on the mausoleum was commenced 
early in 1632. Inscriptional evidence indicates 
much of tomb was completed by 1636. By 
1643, when Shah Jahan most lavishly 
celebrated the ‘Urs ceremony for Mumtaz	
Mahal’, the entire complex was virtually 
complete.

	106.	 Point out the true statement from the 
following :

	 I. 	 Marble was not used for the	  	
construction of the Taj Mahal.

	 II. 	 The name of the Taj Mahal is also 
Rauza-i-Munawara.

	 III. 	 The Taj Mahal was completed by the 
time of the Urs ceremony for Mumtaz 
Mahal was held.

	 (A)	 Only III	
	 (B)	 Only I	
	 (C)	 Only II	
	 (D)	 More than one of the above
	 (E)	 None of the above

	107.	 In the contemporary texts the Taj Mahal 
is known as

	 (A)	 Mumtaz Mahal	
	 (B)	 Mumtazabad	
	 (C)	 Rauza-i-Munawara	
	 (D)	 More than one of the above
	 (E)	 None of the above

	108.	 The construction of the Taj Mahal was 
completed between the period

	 (A)	 1680 – 1690 A.D.
	 (B)	 1620 – 1626 A.D.		
	 (C)	 1610 – 1616 A.D.	
	 (D)	 More than one of the above
	 (E)	 None of the above

	109.	 Marble stone used for the construction 
of the Taj Mahal was brought from the 
ancestral domain of Raja Jai Singh. 
The name of the place where mines of 
marble were located is 

	 (A)	 Makrana
	 (B)	 Burhanpur		
	 (C)	 Amber	
	 (D)	 More than one of the above
	 (E)	 None of the above

	110.	 The remains of Mumtaz Mahal were 	
initially buried in

	 (A)	 Delhi	
	 (B)	 Moradabad	
	 (C)	 Zainabad	
	 (D)	 More than one of the above
	 (E)	 None of the above

Directions (Q. Nos. 111 – 115) :	

Read the passage below and answer the 
following questions.	

The popular view of towns and cities in 
developing countries of the urbanisation 
process is that the emergence of such 
cities connotes environmental degradation, 
generation of slums and squatters, urban, 
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poverty, unemployment, crimes, lawlessness, 
traffic chaos etc. But what is the reality ?

Given the unprecedented increase in urban 
population over the last 50 years from 
30 million in 1950 to 2 billion in 2000 in 
developing countries, the wonder really is 
how well the world has coped and not how 
badly. In general the urban quality of life 
has improved in terms of availability of water 
and sanitation, power, health and education, 
communication and transport.

By way of illustration, a large number of 
urban residents have been provided with 
improved water in urban areas in Asia’s 
largest countries such as China, India, 
Indonesia and Philippines. Despite that, 
the access to improved water in terms of 
percentage of total urban population seems 
to have declined during the last decade of 
20th century, though in absolute numbers, 
millions of additional urbanites have been 
provided improved services.

These countries have made significant 
progress in provision of sanitation services 
too, together, providing for an additional 
population of more than 293 million 
citizens within a decade (1990-2000). These 
improvements must be viewed against 
the backdrop of rapidly increasing urban 
population, fiscal crunch and strained 
human resources and efficient and quality-
oriented public management.

	111.	 The reality of urbanisation is reflected 
in

	 (A)	 how many novels have been 
written	

	 (B)	 the growth of the population in 
cities	

	 (C)	 how many villages have built 
community halls	

	 (D)	 More than one of the above
	 (E)	 None of the above

	112.	 The popular view about the process of 
urbanisation in developing countries is

	 (A)	 negative	
	 (B)	 positive	
	 (C)	 neutral	
	 (D)	 More than one of the above
	 (E)	 None of the above

	113.	 The author in this passage has tried 
to focus on

	 (A)	 village life
	 (B)	 urbanisation and its challenges
	 (C)	 human love	
	 (D)	 More than one of the above
	 (E)	 None of the above

	114.	 The average annual increase in the 
number of urbanites in developing 
countries, from AD 1950 to 2000 was 
close to

	 (A)	 4 million
	 (B)	 3 million		
	 (C)	 10 million	
	 (D)	 More than one of the above
	 (E)	 None of the above

	115.	 Which one of the following is not 
considered as an indicator of urban 
quality of life ?

	 (A)	 Clean water	
	 (B)	 Sanitation facilities	
	 (C)	 Clean air	
	 (D)	 More than one of the above
	 (E)	 None of the above

Directions (Q. Nos. 116 – 120) :	
Read the passage below and answer the 

following questions.	

Storytelling is not in our genes. Neither is it an 
evolutionary history. It is the essence of what 
makes us human. Human beings progress 
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by telling stories. One event can result in 
a great variety of stories being told about 
it. Sometimes, those stories differ greatly. 
Which stories are picked up and repeated 
and which ones are dropped and forgotten 
often determines how we progress.
Our history, knowledge and understanding 
are all the collections of the few stories that 
survive.
This includes the stories that we tell each 
other about the future. And how the future 
will turn out depends partly, possibly largely, 
on which stories we collectively choose to 
believe. Some stories are designed to spread 
fear and concern. This is because some 
storytellers feel that there is a need to raise 
some tensions.
Some stories are frightening, they are like 
totemic warnings. Fail to act now and we 
are all doomed. Then, there are stories that 
indicate that all will be fine so long as we 
leave everything up to a few especially able 
adults. Currently, this trend is being led by 
those who call themselves ‘rational optimists’. 
They tend to claim that it is human nature to 
compete and succeed and also to profit at 
the expense of others. The rational optimists 
however, do not realise, how humanity 
progressed overtime through amiable social 
networks and how large groups work in less 
selfishness and in the process accommodate 
rich and poor, high and low alike. This aspect 
in storytelling is considered by the ‘Practical 
Possibilities’, who sit between those who say 
all is fine and cheerful and be individualistic 
in your approach to a successful future and 
those who ordain pessimism and fear that we 
are doomed.

	116.	 Storytelling is
	 (A)	 in not in our genes
	 (B)	 an ancient practice		
	 (C)	 the essence of what makes us 

human	
	 (D)	 More than one of the above

	 (E)	 None of the above

	117.	 Humans become less selfish when

	 (A)	 they listen to frightening stories

	 (B)	 they work in large groups	

	 (C)	 they work in solitude

	 (D)	 More than one of the above

	 (E)	 None of the above

	118.	 Rational optimists

	 (A)	 live in secluded catles

	 (B)	 don’t think about the future at all

	 (C)	 think that the welfare of man 
should be left only to a few able 
adults	

	 (D)	 More than one of the above

	 (E)	 None of the above

	119.	 Our knowledge is a collection of

	 (A)	 some stories that we forget	

	 (B)	 no stories that we have heard 
during our life-time	

	 (C)	 a few stories that survive	

	 (D)	 More than one of the above

	 (E)	 None of the above

	120.	 How the future will turn out to be, 
depends upon the stories ...

	 (A)	 Which are repeatedly narrated

	 (B)	 We collectively choose to believe 
in	

	 (C)	 Designed to spread fear and	 
tension

	 (D)	 More than one of the above

	 (E)	 None of the above
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Directions  (Q. Nos. 121 – 125) :	

Read the passage below and answer the 
following questions.	

One of the findings of the research into 
successful leadership is the fact that respect 
is always a two-way street. No matter how 
powerful you are, no matter what your 
experience, skills, and accomplishments, 
you will not be respected by others if you 
consistently treat them  disrespectfully. 
Friendliness-that is, treating others politely 
and showing interest in them is a way of 
showing your respect for other people in 
return they respect you. If as a manager 
you are respected, preventive maintenance 
strategy will be accepted as a sincere attempt 
to resolve problems rather than mean spirited 
attempt to cause problems.

As important as friendliness is, I want to 
make sure you are no mislead into believing 
that friendliness will replace or correct poor 
management. I have seen effective managers 
who did not use this friendliness element 
but could have been more effective if they 
did use it. I have seen very friendly managers 
who were ineffective because they were not 
doing effective management things. In other 
words, managers who intervene effectively 
in a friendly way are always more effective 
than managers who intervene effectively in 
a non-friendly way. Maintaining a friendly 
relationship is another part of maintaining 
work performance. It is helps you avoid 
having people try to hurt you because they 
do not like you. It might save your life.

	121.	 The author feels only friendliness can 
replace or correct poor management.

	 (A)	 The statement is false
	 (B)	 The statement is true		
	 (C)	 The author is ambiguous about 

the subject	
	 (D)	 More than one of the above
	 (E)	 None of the above

	122.	 The author feels that respect is	

	 (A)	 a one way street	

	 (B)	 not possible

	 (C)	 a two way street	

	 (D)	 More than one of the above

	 (E)	 None of the above

	123.	 The passage suggests that people try 
to hurt you when

	 (A)	 When they do not like you	

	 (B)	 You are friendly to them	

	 (C)	 When they become good	  
managers	

	 (D)	 More than one of the above

	 (E)	 None of the above

	124.	 When will preventive maintenance 
strategy be accepted ?

	 (A)	 When it is seen as a sincere 	
attempt to resolve problems	

	 (B)	 When there is respect for the	
manager

	 (C)	 When it is seen as a mean spirited 
gesture	

	 (D)	 More than one of the above
	 (E)	 None of the above

	125.	 The author feels that a good manager

	 (A)	 Combines friendliness with other 
strategies of management	

	 (B)	 Uses only friendliness as a sole 
management criterion	

	 (C)	 Hurts other people

	 (D)	 More than one of the above

	 (E)	 None of the above
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Directions (Q. Nos. 126 – 130) : In these 
questions, look at the underlined part of the 
given sentence. Below the sentence are given 
three possible substitutions for the underlined 
part. If any of substitutions; (a), (b) or (c) is 
better than the underlined part, choose that 
substitution as your response. If more than 
one the substitutions improve the sentence, 
choose (d). If none of the suggestions improve 
the sentence choose (e).	

	126.	 You must carry on my order
	 (A)	 Carry out	
	 (B)	 Carry off	
	 (C)	 Carry of	
	 (D)	 More than one of the above
	 (E)	 None of the above

	127.	 The poor villagers have waited in the 
bitter cold for more than four hours 
now.

	 (A)	 had been waited
	 (B)	 has been waiting		
	 (C)	 have been waiting	
	 (D)	 More than one of the above
	 (E)	 None of the above

	128.	 He was extremely unhappy because 
of the inordinately delay.

	 (A)	 the inordinating delaying	
	 (B)	 the inordinates delay
	 (C)	 the inordinate delay	
	 (D)	 More than one of the above
	 (E)	 None of the above

	129.	 The two thieves sold the loot to a	 
merchant.

	 (A)	 Sale the loot
	 (B)	 Selling the loot		
	 (C)	 Sell looting	
	 (D)	 More than one of the above
	 (E)	 None of the above

	130.	 Newton wanted to know why did the 
apple fall to the ground.

	 (A)	 Know why the apple fell	
	 (B)	 Know that why did the apple fall
	 (C)	 Know that why the apple fell
	 (D)	 More than one of the above
	 (E)	 None of the above

Directions (Q. Nos. 131 – 135) : 

Indicate the correct meaning of the following 
idioms from the options given :

	131.	 To leave no stone unturned
	 (A)	 To try one’s utmost
	 (B)	 To keep clean and tidy	
	 (C)	 To change the things
	 (D)	 More than one of the above
	 (E)	 None of the above

	132.	 To smell a rat

	 (A)	 To misunderstand

	 (B)	 To smell bad odour		

	 (C)	 To suspect a trick or deceit	

	 (D)	 More than one of the above

	 (E)	 None of the above

	133.	 Sitting on the fence
	 (A)	 Coward	
	 (B)	 Unbalanced	
	 (C)	 Between two opinions	
	 (D)	 More than one of the above
	 (E)	 None of the above

	134.	 To wash dirty linen in public
	 (A)	 To clean solid linen	
	 (B)	 To quarrel openly	
	 (C)	 To wash dirty clothes	
	 (D)	 More than one of the above
	 (E)	 None of the above
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	135.	 Between the devil and the deep sea
	 (A)	 To be evil tempered	
	 (B)	 A deep sea diver	
	 (C)	 In a dilemma	
	 (D)	 More than one of the above
	 (E)	 None of the above

Directions (Q. Nos. 136 – 140) : In the	
following  questions, choose the correct 	
preposition from the given alternatives.

	136.	 I am proud ________ the way in which 
my students have performed.

	 (A)	 in

	 (B)	 by		

	 (C)	 to	

	 (D)	 More than one of the above

	 (E)	 None of the above

	137.	 The train was travelling from Howrah 
__________ New Delhi.

	 (A)	 in

	 (B)	 to		

	 (C)	 into	

	 (D)	 More than one of the above

	 (E)	 None of the above

	138.	 Beware _____ pickpockets in crowded 
trains.

	 (A)	 from	

	 (B)	 to	

	 (C)	 of	

	 (D)	 More than one of the above

	 (E)	 None of the above

	139.	 Raju killed the snake ________ a stick.

	 (A)	 by

	 (B)	 in		

	 (C)	 with	

	 (D)	 More than one of the above

	 (E)	 None of the above

	140.	 The doctor had asked him to abstain 
___________sweets because he had 
diabetes.

	 (A)	 of

	 (B)	 from		

	 (C)	 in	

	 (D)	 More than one of the above

	 (E)	 None of the above

Directions (Q. Nos. 141 – 145) :

In this section each sentence consists of a 

word or a phrase which  is underlined. Select 

the word of phrase which is closely opposite 

in meaning to the underlined word or phrase :

	141.	 The general did not divulge the	  
secret.

	 (A)	 rebel

	 (B)	 reveal		

	 (C)	 conceal	

	 (D)	 More than one of the above

	 (E)	 None of the above
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	142.	 He glanced through the letter	  
perfunctorily.

	 (A)	 Ceremoniously	
	 (B)	 poorly	
	 (C)	 Carefully	
	 (D)	 More than one of the above
	 (E)	 None of the above

	143.	 He was exhausted by the efforts on 
the field.

	 (A)	 fatigued	

	 (B)	 tired	

	 (C)	 broken	

	 (D)	 More than one of the above

	 (E)	 None of the above

	144.	 The man was reprimanded by his

		  family for stealing.

	 (A)	 abused	

	 (B)	 scolded	

	 (C)	 praised	

	 (D)	 More than one of the above

	 (E)	 None of the above

	145.	 The speaker had a superficial	  
		  knowledge of the subject.

	 (A)	 Deep	

	 (B)	 Artificial	

	 (C)	 neutral	

	 (D)	 More than one of the above

	 (E)	 None of the above

Directions (Q. Nos. 146 – 150) : Read each 
sentence to find out whether there is any 
error in it. The error, if any, will be in one 
part of the sentence. The alphabet number of 
that part is the answer. If there is an error in 
more than one part then the answer is (d). If 
there is no error in any part then the answer 
is (e).	

	146.	 Bangladesh exports a lot of garment (a)/ 
to the Western countries (b)/ at a 
cheap rates. (c)/ more than one of 
the above (d) /none of the above (E)

147. 	 It was evident (a)/ to me that there was 
any mistake (b)/ in that account. (c)/ 
more than one of the above (d)/none 
of the above (e)

	148.	 The conference was (a)/ attending 
by some very (b)/ distinguished 
speakers. (c) / more than one of the 
above (d)/ none of the above (E)

	149. 	 This is one of the most (a)/ interesting 
book (b)/ I have ever read. (c)/ more 
than one of the above (d)/ none of the 
above (e)

	150. 	 No monument in the world (a)/ is so 
beautifully (b)/ as the Taj Mahal of Agra. 
(c)/ more than one of the above (d) /
none of the above (e)
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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   Cå_rXdma H$m AZwH«$_m§H$

    

 àíZ-nwpñVH$m

^mfm, gm_mÝ` AÜ``Z Am¡a A§J«oOr

g_` : 2:30 KÊQ>o	 nyUmªH$ : 150

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü`mZ go n‹T> b| &

_hÎdnyU© AZwXoe
	 1.	 `h àíZ-nwpñVH$m VrZ ^mJm| _| {d^m{OV h¡ — ^mJ – I, ^mJ – II Ed§ ^mJ – III & ^mJ – I _| ^mfm (Ah©Vm) Ho$ àíZ h¢, ^mJ – II _| 

gm_mÝ` AÜ``Z Ho$ àíZ h¢ VWm ^mJ - III _| A§J«oOr Ho$ àíZ h¢ &

	 2.	 ^mJ – I, ^mfm (Ah©Vm) _| àíZ g§»`m 1 go 30 VH$ àíZ h¢ & ^mJ – I _| A§J«oOr ^mfm _| àíZ g§»`m E-1 go E-8 VH$ (g^r Ho$ {bE 
g_mZ), {hÝXr ^mfm _| àíZ g§»`m H-9 go H-30 VH$, CXÿ© ^mfm _| àíZ g§»`m U-9 go U-30 VH$ VWm ~m§½bm ^mfm _| àíZ g§»`m  
B-9 go B-30 VH$ h¢ (Aä`Wu H$mo VrZ ^mfmAm| _| go {H$gr EH$ ^mfm Ho$ àíZ MwZZo h¢) & ^mJ - II _| àíZ g§»`m 31 go 70 (àíZ Am¡a 
CZHo$ CÎma A§J«oOr Ed§ {hÝXr _| _w{ÐV h¢) VWm ^mJ - III _| àíZ g§»`m 71 go 150 VH$ h¢ &

	 3.	 g^r àíZm| Ho$ A§H$ g_mZ h¡§ &

	 4.	 àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡ & AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ 
{bIo Ed§ Hy$Q>~Õ H$a| VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om±Mm Zht Om`oJm &

	 5.	 narjm Amaå^ hmoVo hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na Xm`t Amoa _w{ÐV 
ûm¥§Ibm Ed§ CÎma nwpñVH$m na _w{ÐV ûm¥§Ibm g_mZ h¡ & H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a\$ H$m`© hoVw EH$ n¥îR>>> (n¥îR> g§. 39) g{hV nyao 40 
_w{ÐV n¥îR> h¢ Am¡a H$moB© àíZ `m n¥îR> {~Zm N>nm hþAm `m \$Q>m hþAm `m Xmo~mam Am`m hþAm `m àíZ nwpñVH$m Ed§ CÎma nwpñVH$m _| _w{ÐV ûm¥§Ibm _| 
AÝVa Vmo Zht h¡ & nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m _| {H$gr àH$ma H$s Ìw{Q> nmZo na VËH$mb BgHo$ ~Xbo Bgr ûm¥§Ibm H$s Xÿgar ghr nwpñVH$m Ed§ 
Amo.E_.Ama. n{ÌH$m bo b| &

	 6.	 Bg n¥îR> Ho$ D$na {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ Adí` {bI| & àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI| &

	 7.	 àË`oH$ àíZ Ho$ nm±M CÎma — (A), (B), (C), (D) Am¡a (E) H«$_ na {X`o J`o h¢ & CZ_| go Amn g~go ghr Ho$db EH$ CÎma H$mo MwZ| Am¡a 
AnZo CÎma nÌH$ na A§{H$V H$a| & AmnH$m Hw$b àmßVm§H$ AmnHo$ Ûmam CÎma nÌH$ _| A§{H$V ghr CÎmam| na {Z^©a H$aoJm &

	 8.	 CÎma nÌH$ _| àË`oH$ àíZ g§»`m Ho$ gm_Zo nm±M d¥Îm Bg àH$ma ~Zo hþE h¢ — A , B , C , D  Am¡a E  & àíZm| Ho$ CÎma XoZo Ho$ {bE 
AmnH$mo AnZr ngÝX Ho$ Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡ & àË`oH$ àíZ Ho$ {bE Ho$db EH$ 
CÎma H$mo MwZ| Am¡a Cgo AnZo CÎma nÌH$ _| {M{•V H$a| & Amn CÎma nÌH$ _| `{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm _| {ZemZ bJmVo h¢, 
Vmo AmnH$m CÎma JbV _mZm Om`oJm & CÎma nÌH$ _| CÎma H$mo {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ H$m hr à`moJ 
H$a| & {H$gr ^r àH$ma H$m H$mQ>-Hy$Q> AWdm n[adV©Z _mÝ` Zht h¡ &

	 9.	 `{X {H$gr àíZ _| {H$gr àH$ma H$s H$moB© _wÐU `m VÏ`mË_H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| _| go A§J«oOr ê$nmÝVa 
H$mo _mZH$ _mZm Om`oJm &

	 10.	 àíZ-nwpñVH$m go H$moB© nÞm \$m‹S>Zm `m AbJ H$aZm _Zm h¡ & àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha H$Xm{n 
Z bo Om`| & narjm Ho$ g_mnZ na CÎma nÌH$ drjH$ H$mo Adí` gm¢n X| & CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo OmZo H$s 
AZw_{V h¡ &

	 11.	 D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo 
XÊS> {X`m Om gH$Vm h¡ & 

	 12.	 Aä`Wu CÎma nÌH$ H$mo AnZr CnpñW{V _| Self Adhesive LDPE Bag _| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j H$mo 
N>mo‹S>| &

 Note : English version of the instructions is printed on the First Page of this Booklet.
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